## IN-0007308



Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

 03/03/2025 09:00 AM | Loading Semis
 PO:

 03/12/2025 09:00 AM | Crew Flight to Austin
 Shipping Address:

 03/13/2025 09:00 AM | Crew Install day 1
 Shipping Address:

 03/14/2025 09:00 AM | Crew Install Day 2
 Shipping Address:

 03/15/2025 09:00 AM | Crew Touch up & event
 Shipping Address:

 03/16/2025 09:00 AM | Strike
 Strike Day 2 and

 03/17/2025 09:00 AM | Strike Day 2 and
 Strike Day 2 and

 03/18/2025 09:00 AM | Fligh Back To La
 Strike Day 2 and

JORDAN PAYNE EVENTS

Invoice Date: Due Date: Upon Receipt

Salesperson: Romina Manolio

Description		Qtty	Price		Total
TBD EXTRAS					
	Custom Made truss Covers TBD Color 600 x 12"x12"	1	\$8,640.00	Т	\$8,640.0
	Custom Made Shield Covers TBD Size	1	\$0.00	Т	\$0.0
	Rain Plan - Drape tent 25 legs some to be Double Sided Drape in Stock Style TBD	1	\$6,600.00	Т	\$6,600.0
			Total TBD EXT	RAS	\$15,240.0
Entrance					
	In Stock Ivory Stretch Velvet To Create a double sided Pullback	1	\$0.00	Т	\$0.0
	Between Entrance and Parlor Size TBD and price as well till measurement is confirmed				
	In Stock Ivory Stretch Velvet Drape to Create Pullbacks at Main Walkway Entrance	1	\$1,080.00	Т	\$1,620.0
	With Valance and Tassels Ivory Double Sided - and Smaller Pieces to Drape the dar Wood				
			Total Entra	nce	\$1,620.0
Parlor A&B					
	Ivory Stretch Velvet to Drape Parlos A&B Walkway to Ceremony	1	\$3,060.00	Т	\$4,590.0
	150'x13'H - Valance in Ivory Velvet and Tassels				
			Total Parlor A	A&B	\$4,590.0
Ceremony					
	Garden Dining Chair - Giardino Delle Rose - Chair 04 In color Matching drape - Custom Cushions in Saint 12-Sky 4 for Musician 2 for tech 18"W x 18"L x 34"H - Frame & Cushion Color Upon Request	6	\$36.00	Т	\$324.0

Description		Qtty	Price		Total
	Garden Sofas - Giardino Delle Rose - Love Seat Ceremony Seating Painted in Ivory matching Chairs Cushion in Saint 12 Sky 43"W x 20"L x 36"H - Custom Frame & Cushion Color Upon Request	2	\$240.00	Т	\$720.00
	Props - Carts - Display Cart W/ Drawing - Amarena Matching Ivory to the velvet Drape The awning to be In Saint 12- Sky add 2 Small pedestals painted in Ivory to Prop Bottles and or Florals 77âl 🛚 W38âl 🗅 ±77âl 🖉 H	1	\$960.00	Т	\$1,440.00
	Arches - Collapsible Lattice Arch - 12'h paint tbd- Painted Sateen - For the back of the Altar Florist to embellish 10'W x 18"D x 12"H	1	\$720.00	Т	\$1,080.00
	Arches - Collapsible Lattice Arch - 10'h paint tbd-Painted Sateen - For the back of the Altar Florist to embellish 8'W x 18"D x 10'H	2	\$600.00	Т	\$1,800.00
	New - Collapsible Lattice Arch - 12'H - To Be place at Entrance of Aisle -Arkade White Painted Sateen - For the back of the Altar Florist to embellish	1	\$1,440.00	Т	\$1,440.00
	Garden Sofas - Scalloped Love Seat Painted in tbd - W/ Saint 12- Sky	4	\$330.00	Т	\$1,980.00
	New -Garden Sofas Scalloped Love Seat Painted tbd W/ Saint 12- Sky	6	\$330.00	Т	\$1,980.00
州	Dining Chairs - Frankfurt - Channeled Boucle Round - Off White Ceremony Seating 24⤠@ ₩22⤠@ ±34⤠® H	30	\$30.00	Т	\$1,350.00
	Dining Chairs - Frankfurt - Off White Channeled Boucle Ceremony Seating 25âN 🛚 ¥23âN 🛚 ±34âN 🛛 H	250	\$30.00	Т	\$11,250.00
	Custom Pillows In Light Blue for Garden Sofas & Club chairs Saint 12- Sky	30	\$30.00	Т	\$900.00
			Total Ceremo	ony	\$24,264.00
Pavilion Her Sic	le - Cocktails				
	Custom Draping In Two Tone Chiffon - Enclose her Side of the Pavilion Walls in 557 Neon Fuchsia With Baking Ceiling in #453 Pumpkins With no Backing Walls to be 350' x 12'H Ceiling to Go From the 12'Mark on Pipe and Bar to center Raf	1	\$18,000.00	Т	\$18,000.00
	Tot	al Pavilion	Her Side - Cockta	ails	\$18,000.00
Pavilion His Sid	le - Cocktails				

Description		Qtty	Price		Total
	In Stock Fabric Treatment Wall Custom Ceiling To enclose his side of the pavilion Hunter Green Stretch Hunter Green velvet to be 450' x 12' H Glass Windows to Be Double Sided Looking at. Hill Country Lawn	1	\$15,600.00	Т	\$15,600.0
	Ceiling in Custom two Tone Chiffon #2				
	Τα	tal Pavilion	His Side - Cockta	ails	\$15,600.0
Cocktails					
	Drape in Ivory Velvet To Partially Cover Brazos Foyer 300'x 16'H With valance and Tassels 4 Columns 7'x 2'x16'H For a total off 80'x 16'H	1	\$9,000.00	Т	\$13,500.0
	Custom Made Channel Bar 22'x16' x 40"H flat Channel Front in Chenille Blue 926 Tops to Be High Gloss Ivory	1	\$12,000.00	Т	\$12,000.0
	Custom Made Arch Barback	2	\$4,200.00	Т	\$8,400.0
	12'x 18" - center to be 8' H Sides to Be 6"( till final Drawing ) Painted in a Light Blue With Inserts in faux Mercury glass				
	Sconces for Bar Back TBD	8	\$0.00	Т	\$0.0
	Ottomans - Standard Pod Cover matching sofa 18"RND x 17"H - Cover Color Upon Request	3	\$36.00	Т	\$162.0
(E)	Sofas - Bucharest - White Velvet & Wood 90"W x 38"D x 27"H	2	\$600.00	Т	\$1,800.0
	Coffee Tables - Rome - Round - Off White 31 1/2"D x 16"H	2	\$264.00	Т	\$792.0
<b>.</b>	Club & Lounge Chairs - Bucharest - White Velvet & Wood 29" W x 36"L x 32"H	4	\$216.00	Т	\$1,296.0
	Mix and match Pillows In Blue	10	\$30.00	Т	\$300.0
	Stand Up Tables - Natural Wood 36"Diam x 42"H	4	\$330.00	Т	\$1,980.0
	Dining Table - Las Vegas - Colored Top & Base Square 72" Painted in Light Blue for Raw Bar 72"W x 72"L x 30"H - Custom Top & Base Color Upon Request	1	\$360.00	Т	\$540.0
E T	Dining Chairs - St. Lucia - Oak & Boucle 19"W x 20"L x 30"H	20	\$30.00	Т	\$900.0
			Total Cockta		\$41,670.0

Description		Qtty	Price		Total
	In stock Stretch Ivory Velvet Drape to Create tunnel walls & Entrance to ballroom	1	\$6,000.00	Т	\$6,000.00
	280'x 14'H With Valance and Tassels add Extra Pullbacks to Make tunnel more interesting ( no Ceiling)				
	Sconces For Barbacks	2	\$0.00	Т	\$0.0
	Bars - New York - Straight Folding 12' Custom Front in Blue 926 Either Velvet or Chenille Top Painted in Ivory 12'W x 31"L x 42"H - Custom Color Upon Request	1	\$1,800.00	Т	\$2,700.0
	Barback - Alcove - 1 Arch painted same Color as Foyer Barback With Faux INsert in Vintage Mirror 8'W x 18"D x 10'H	1	\$2,040.00	Т	\$3,060.00
		Тс	otal Tunnel Entrai	nce	\$11,760.00
Main Ballroom					
	Fabric Tretament in Velvet B Blue to Cover Ballroom 680' x 22'H Stage Back Drop to have Over lapping Pullbacks	1	\$38,400.00	Т	\$38,400.00
	ceiling Treatment in Two Tone Chiffon Shade of Blue To be determined Price Will be Finalized once truss plot is send Price is approximate	1	\$18,000.00	Т	\$18,000.00
	Flat Channeled Stage Front To Cover 28' front x 25'H 2 - 8' return In 926 BIBlue Velvet	1	\$11,400.00	Т	\$11,400.00
	Custom Cake Pedestal 48" hexagonal x 35"H final height - With fitted table cloth In Ivory velvet with Details in 926 Blue Velvet - inverted pleats and 6"h border	1	\$420.00	Т	\$420.00
	Mix and match Pillows In blue and Off white	126	\$30.00	Т	\$3,780.00
			Total Main Ballro	om	\$72,000.00
Main Ballroom B	ar				
	Bars - New York - Curved Custom front in 926 B Blue Velvet Or chenille Top to Be Ivory 11'W x 3'L x 43"H	4	\$1,800.00	Т	\$10,800.00
	Barback Alcove Center With Smaller Side Alcoves Painted in Ivory with Insert in Faux Vintage Mirror	2	\$3,000.00	Т	\$6,000.00
	Sconces for Bar backs	4	\$0.00	Т	\$0.00
		Tota	I Main Ballroom	Bar	\$16,800.00
Main ballroom F	amily Seating				
	Custom Napkins Hemstitch with Monogramed 1 -Jordan has 31 will be monogrammed	32	\$19.20	Т	\$614.40

Description		Qtty	Price		Total
	32' x 48" Custom Head table - Glass Top & Channel Base 4Tables to be together 4- bases- Channel Blue in 926 B Blue Velvet 4 glass Tops	1	\$6,000.00	Т	\$6,000.00
	Dining Chairs - Washington - Gold/blush 32 for Head Table In Blue 24 In Ivory Velvet 19"W x 23"L x 37"H	56	\$24.00	Т	\$2,016.00
	Tota	al Main ballr	oom Family Seat	ing	\$8,630.40
Main Ballroom F	Food Station				
	Dining Table - Las Vegas - Colored Top 8'x40" Painted in color TBd 8'W x 40"L x 30"H - Custom Top & Base Color Upon Request	10	\$420.00	т	\$6,300.00
	Dining Tables - Las Vegas - Colored Top & Base Round 72" Painted in Color TBD 72" Diam x 30"H	2	\$420.00	Т	\$1,260.00
	Тс	otal Main Ba	llroom Food Stat	ion	\$7,560.00
Lounge Light Bl	ue				
	Sofas - Brussels - Powder Blue W/ Brass Legs 92"W x 36"L x 35"H	4	\$450.00	Т	\$2,700.00
J	Benches - Infinity Gold & Boucle Covers in Blue close to match Sofa 60"W X 16"D X 19" H	4	\$300.00	т	\$1,800.00
	Club & Lounge Chairs - Bora Bora - Accent Chair 26"W x 27"L x 33â⊠ ⊮	8	\$72.00	Т	\$864.00
	Coffee Tables - Moscow - Mirror Top W/ Gold Frame 48"W x 24"L x 17"H	4	\$240.00	Т	\$1,440.00
	Accent Table - Moscow - Oval Glass Top W/ Gold Cut Out Frame 22"W x 20"H	4	\$120.00	Т	\$720.00
		Tota	al Lounge Light B	lue	\$7,524.00
Pink Lounge					
5	Sofas - Palm Springs - Tufted Off White 6'W x 3'L x 30"H - Mix n' Match with Palm Spring Collection	4	\$600.00	Т	\$3,600.00
	Coffee Tables - Moscow - Oval Mirror Top W/ Gold Frame 48"W x 29"L x 18"H	4	\$240.00	Т	\$1,440.00

Description		Qtty	Price		Total
A	Club & Lounge Chairs - Tokyo - Accent Chair White W/ Gold IN custom Pin Stripe Fabric 17"W x 20"L x 28"H	8	\$180.00	Т	\$2,160.00
	Accent Table - Moscow - Oval Glass Top W/ Gold Cut Out Frame 22"W x 20"H	4	\$120.00	Т	\$720.00
	Club & Lounge Chairs - Buenos Aires - Accent Chairs White Cover in Blue 27"W x 32"L x 33"H	4	\$312.00	Т	\$1,872.00
	Club & Lounge Chairs - Buenos Aires - Accent Chairs Grey Cover in Blue 27"W x 32"I x 33"H	4	\$312.00	Т	\$1,872.00
			Total Pink Lou	nge	\$11,664.00
Green Lounge					
	Booths - Round Grey Chenille 2pc Set This Price includes Ivory Velvet Cover any custom Cover will be added to the Invoice 6â® © 10"₩3â® © 2"≿3â® © 3"H	6	\$720.00	Т	\$6,480.00
	Custom Made Cover in Printed Fabric in Pin Stripes Price will be provided once we have the File for Printing	6	\$0.00	Т	\$0.00
	Dining Chairs - Washington - Gold/blus Change Cushions To Ivory Velvet 19"W x 23"L x 37"H	24	\$22.80	Т	\$820.80
			Total Green Lou	nge	\$7,300.80
Yellow Lounge					
	Sofas - Pasadena - Ivory Velvet 8'W x 34"L x 28"H	2	\$540.00	Т	\$1,620.00
	Coffee Tables - Bucharest - Brass & Mirror 44.5"W x 24.75"D x 20.5"H	2	\$300.00	Т	\$900.00
	Club & Lounge Chairs - Pasadena - Ivory Velvet 3'W x 3'L x 29"H	4	\$312.00	Т	\$1,872.00
	Club & Lounge Chairs - Brussels - Club Chair Powder Blue 43⤠¤ ₩36⤠¤ ±34⤠¤ H	2	\$300.00	Т	\$900.00
	New Accent Chair in Blue	2	\$420.00	Т	\$1,260.00

Description		Qtty	Price		Total
	Accent Tables - Bucharest - Brass & Mirror 19.25"W x 16.5"D x 24.75"H	2	\$144.00	Т	\$432.00
	Ottomans - Hollywood - Beige W/ Brass Base Cover in blue 16"Diam x 18"H	6	\$48.00	Т	\$432.00
	Console Tables - Bucharest - Brass & Mirror 39"W x 13.5"L x 30"H	2	\$204.00	Т	\$612.00
	Coffee Tables - Gold Loop 40â <sup>®</sup> 🛚 Diam19â <sup>®</sup> M	1	\$300.00	Т	\$300.00
			Total Yellow Lou	nge	\$8,328.00
Orange Lounge					
	Sofas - Pasadena - Ivory Velvet 8'W x 34"L x 28"H	2	\$540.00	Т	\$1,620.00
	Club & Lounge Chairs - Brussels - Club Chair Powder Blue 43â® ® ₩36â® ® ±34â® ® H	2	\$300.00	Т	\$900.00
	Coffee Tables - Bucharest - Brass & Mirror 44.5"W x 24.75"D x 20.5"H	2	\$300.00	Т	\$900.00
	Ottomans - Hollywood - Beige W/ Brass Base 16"Diam x 18"H	6	\$48.00	Т	\$432.00
	New Accent chair in Blue	2	\$420.00	Т	\$1,260.00
	Accent Tables - Bucharest - Brass & Mirror 19.25"W x 16.5"D x 24.75"H	2	\$144.00	Т	\$432.00
	Console Tables - Bucharest - Brass & Mirror 39"W x 13.5"L x 30"H	1	\$204.00	Т	\$306.00
B	Club & Lounge Chairs - Pasadena - Ivory Velvet 3'W x 3'L x 29"H	4	\$312.00	Т	\$1,872.00
	Coffee Tables - Gold Loop 40âl 🛛 Diam 19âl Ih	1	\$300.00	Т	\$300.00

Description		Qtty	Price		Total
			Total Orange Lou	nge	\$8,022.00
Turquoise Loung	je				
	Accent Table - Madrid - Gold Frame 14"W x 7"L x 25"H	2	\$102.00	Т	\$306.00
	Coffee Tables - Montreal - Gold Leaf Rectangular 4'W x 2'L x 18"H	2	\$258.00	Т	\$774.00
	Sofas - Moscow - Off White 92⤠¤ ⤠¤X 129⤠¤ ⤠¥ 39£AT DIMENSION 31⤠¤ â¤X ¤ 79⤠¤ '	2	\$480.00	Т	\$1,440.00
XX	Benches - Madrid - W/ Gold Metal Frame 54"W x 18"L x 21"H	2	\$144.00	Т	\$432.00
	New Accent Chairs Blue	4	\$420.00	Т	\$2,520.00
		Total Turquoise Lounge			\$5,472.00
Grey Lounge					
	Accent Table - Madrid - Gold Frame 14"W x 7"L x 25"H	2	\$102.00	Т	\$306.00
	Coffee Tables - Montreal - Gold Leaf Rectangular 4'W x 2'L x 18"H	2	\$258.00	Т	\$774.00
	Sofas - Moscow - Off White 92⤠¤ ⤠¤X 129⤠¤ ⤠¥ 29⤠¤ ⤠¤S#EAT DIMENSION 31⤠¤ â¤X¤ 79⤠¤ '	2	\$480.00	Т	\$1,440.00
XX	Benches - Madrid - W/ Gold Metal Frame 54"W x 18"L x 21"H	2	\$144.00	Т	\$432.00
	New Accent Chair in blue	4	\$420.00	Т	\$2,520.00
			Total Grey Lou	nge	\$5,472.00
Red Lounge					
T	Accent Table - Madrid - Fuji Marble Top 13"Diam x 22"H	2	\$120.00	Т	\$360.00
	Club And Lounge Chairs - Palm Springs - Tufted Off	4	\$360.00	Т	\$2,160.00

Description		Qtty	Price		Total
	Coffee Tables - Moscow - Oval Mirror Top W/ Gold Frame 48"W x 29"L x 18"H	2	\$258.00	Т	\$774.00
	New Accent Chairs Blue	4	\$420.00	Т	\$2,520.00
	Ottomans - Palm Springs - Tufted Ivory 18"W x 20"L x 19"H - Mix n' Match with Palm Spring Collection	4	\$180.00	Т	\$1,080.00
			Total Red Lou	nge	\$6,894.00
Purple Lounge					
A	Accent Table - Madrid - Fuji Marble Top 13"Diam x 22"H	2	\$120.00	Т	\$360.00
	Club And Lounge Chairs - Palm Springs - Tufted Off White 3'W x 3'L x 30"H - Mix n' Match with Palm Spring Collection	4	\$360.00	Т	\$2,160.00
	Coffee Tables - Moscow - Mirror Top W/ Gold Frame 48"W x 24"L x 17"H	2	\$240.00	Т	\$720.00
	New Accent Chairs in blue	4	\$0.00	Т	\$0.00
	Ottomans - Palm Springs - Tufted Off White 3'W x 23"L x 18"H - Mix n' Match with Palm Spring Collection	4	\$180.00	Т	\$1,080.00
			Total Purple Lou	nge	\$4,320.00
Blue Lounge					
Ţ	Accent Table - Madrid - Giusti Marble Top 16.6"W x 16.5"L x 21"H	4	\$120.00	Т	\$720.00
	Coffee Tables - Gold Loop 40⤠© Diam 19⤠M	2	\$300.00	Т	\$900.00
E	Club & Lounge Chairs - Moscow - Accent Chair Channeled Off White 36⤠w w38⤠¤ ±30⤠¤ H	8	\$312.00	Т	\$3,744.00
			Total Blue Lou	nge	\$5,364.00
Services					
	Monogramed for Napkins 32 pieces	1	\$350.00		\$350.00
	Round trip to LAX to Austin Flight will be confirmed at	17	\$350.00		\$5,950.00

Description		Qtty	Price	Total
	Manager on site - site inspection	1	\$18,000.00	\$18,000.00
	Team Traveling to Austin	16	\$550.00	\$8,800.00
	Day one installation	16	\$650.00	\$10,400.00
	Day 2 installation	16	\$650.00	\$10,400.00
	Event day and touc hups	16	\$550.00	\$8,800.00
	Strike team	16	\$650.00	\$10,400.00
	Strike day 2 and cross load	16	\$550.00	\$8,800.00
	Crew to Flight Back to LA	16	\$550.00	\$8,800.00
	Transportation to Austin Semi trucks	4	\$18,000.00	\$72,000.00
	Hotels for crew- Final price till Confirmation and Book time	9	\$1,800.00	\$16,200.00
	Perdiems	16	\$560.00	\$8,960.00
	rental Cars- Final Price till Confirmation and Book time	4	\$2,500.00	\$10,000.00
	truck Rental In Austin- Final Price till Confirmation and Book Time	1	\$1,700.00	\$1,700.00

Please make checks payable to Revelry, Inc.	Total Products:	\$308,095.20
Nata Drianta deliverias and risk une all inveises must be new in full	Total Labor/Services/Misc:	\$199,560.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it	Wear & Tear (2.00%):	\$6,161.90
······································	Packing (2.00%):	\$6,161.90
Notes	Taxes (tax excempt):	\$0.00
	Discounts:	(\$0.00)
	Total:	\$519,979.01
	Payments:	(\$0.00)
	Balance:	\$519,979.01